EURO Physics test n°2 12

NAME:

ATOMS

) Models of atoms

Here are three models of atoms:
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Associate each model to the right scientist: B®hgmson, Rutherford
Describe the model (c) in a few sentences.
Here is Rutherford’s experiment -

most alpha particles

a. What did Rutherford expect?  soureor G e
. . Iph: ticl

b. What were his observations?  {dene posiely

charged particles)

c. Why did it prove the existence ™ """ N1 [
of a nucleus? S L @/D\

some alpha particles
are deflected

thin gold

radioactivity
detector

An alpha particle is the nucleus ¢ 1in 10000 aipha

particles bounced

an helium atomjHe . What is the =~ backofftre fol
composition of this nucleus? o vacuum purmp

[1) Electron shellsand energy levels
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What are the 2 ways of exciting an atom?

What happens to its electrons then?

What does a line in a line spectrum correspond to?
Here is the diagram of energy levels in a hydrogiem:

Name the energy levels.

Draw a visible transition in blue.

Draw an invisible transition in black.

What makes the difference between
the transition 3->2 and the transition
6->27
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